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16. A two stage RC coupled circuit is shown in Figure 3. JFET parameters are Ipss = TmA. (10]

Vp = =25V & rg = 50kQ and BJT parameters are 3 = 220, V3¢ = 0.7V
a) Calculate input impedance of the circuit
b) Calculate output impedance of the circuit

c¢) Calculate output voltage for the circuit

VDD = +24V
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Figure 3: Question 16

Answers: Ipo = 1.74mA 3 v
Icq = 4.345612nA gm2 = 167.11mA/V  rr = 1.32kQ Z; = 2.20MQ

A = 1874 Ayp=—16711 Ayp =31316  Vou = 06263V

"bSQ = —1.263V G = 2-793"?’{/" IRQ = 19.T

Z, = 1kQ
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9. A two stage circuit is shown in figure 14, MOSFET parameters are Vry1 = Vrnz =5V, [10]
kni = knz = 0.12mA/V2 & A\ = My =0

a) Determine the Q point for both stages

b) Draw mid-frequency equivalent circuit
¢) Calculate Ay and Ay
d) Calculate Ay in dB

e) Calculate V,y; if Vs = 20mV
f) Calculate Z; and Z,
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Figure 14: Question 9
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